Extinction: results when, over a period of time, mortality rate outnumbers birth rate in a species.  Extinction is not reversible.

In order for a species to survive it has to replace the old, or, reproduce.  The process of replacement is called reproduction. The young form the new generation. 

Asexual reproduction:  Reproduction from one parent only.  All offsprings are identical.

	Types of asexual reproduction
	How it works
	Example

	Simple/binary fission
	where one cell divides into two cells called (daughter cells).
	Bacteria, protozoa, algae.

	Budding
	A swelling or bump grows out from the side of organism. Later it may separates and function as an adult.
	Hydra and yeast.

	Spores
	Spores are single cells found in many numbers in special structures.  They are released to grow in the soil.
	Ferns, algae, fungus and mosses.

	Regeneration
	New individuals develop from pieces of the adult organism.
	Flatworm, sponges and starfish(as long as part of the mouthpiece is present).

	Vegetative reproduction
	New individuals grow from any part of the plant except the flower.
	Onion(bulb), tree of life(leaf), strawberry(stem), bamboo(root).


Grafting is another type of vegetative reproduction. Grafting may be used to produce new plants, known as hybrids. Hybrids sometimes can not reproduce (e.g. navel oranges and bananas).

Sexual reproduction:  Reproduction from two parents.  Each parent produces a special cell called gamete. Male gamete is called sperm, (in plants it’s known as pollen grain), and in females it’s known as ovum/egg.  When two gametes join together, they become a zygote(a fertilized egg).  

	Types of sexual reproduction
	How it works
	Examples 

	External 
	Joining of gametes takes place outside the female’s body.  This method is inefficient.
	Frogs, fish,

	Internal 
	Joining of gametes takes place inside the female’s body.  Most efficient method. 
	Most reptiles, birds, mammals, flowers.


